OFFICE OF THE DDPI, KOLAR DISTRICT, KOLAR
DISTRICT LEVEL 10™ STD MIDTERM EXAMINATION. SEPTEMBER/OCTOBER-2022
Subject: Social Science (English Medium)

Time :3hrs Max.Marks :80
I. Four choices are given each of the following questions / incomplete statements. Choose the correct answer and write
the complete answer along with its latter of alphabet. 8x1=8

1. Lord Wellesley resigned his post because of
(A) Salbai Agreement (B) Bassein Treaty

(C) His battle thirstiness (D) I Anglo — Maratha war
2. Diarchy was allowed at provincial government by this Act
(A) Government of India Act of 1919 (B) Indian council Act of 1909
(C) Indian council Act of 1892 (D) Indian council Act of 1861
3. Our present day world is called
(A) Friendly Nations (B) Enemy Nations
(C) Neighbouring Nations (D) Family of Nations
4. In modern days class system was created by
(A) Industrialization (B) Specialization
(C) Stratification (D) Labour
5. NITI Aayog was established in the year
(A)1**Jan 2000 (B) 1** Jan 2015

(C) 1% Jan 2022 (D) 1% Jan 1950
6. Suggest the suitable bank account for a student kamala

(A) Term Deposit Account (B) Current Account

(C) Savings Bank Account (D) Recurring Deposit Account
7. The first Biospherereserve of India at
(A) Nilgiri (B) Nandadevi

(C) Sundarbans (D) Panna and SeshachalamNilgiri

8.Achieving sufficient expertise training and skill in any particular field is called
A) Labour (B) Specilization

(C) skill (D) Division of labour

Il. Answer the following questions in a sentence each:8x1=8

9. Why Rainfall occurs in some places during April and May?

10. Who is the Father of Indian Economic planning?

11. Who issues the National Savings Certificates?

12. Why did Mahatma Joythibaphule advocated compulsory and free education?
13. Constantinople is considered as the gate way of European Trade why?

14. “Truly the whole mankind is one” who declared this statement?

15. India following Non-Alignment movement why?

16. Black sail is highly suitable for dry farming. Give reason?

lIl.LAnswer the following questions in two to four sentences each: 8 x 2 =16
17. How was Marthandavarma checked the Dutch?

18. What were the conditions of Subsidiary alliance?

19. What are the reasons for illiteracy?



OR
What are the reasons for tension between India and Pakisthan?
20. The Himalayan Mountains have influenced the life of Indians .how?
21. What were the factors that led to the Green revolution?
22. Prejudices created by discrimination leading to social conflicts. Justify?
OR
Our constitution has under taken many legal measures to eradicate untouchability. How?
23. List any four services given by the banks?
24. Why does monsoon winds retreat by the end of October?
IV.Answer the following questions in six sentences/ points each:
25. Differentiate between Permanent Zamindari system and Mahalwari system?
26. Explain the fourth Anglo — Mysore war?
27. What were the reasons and outcomes of battle of Plassey?
OR
What were the achievements of Chikkadevaraja Wadiyar?
28. Explain the relationship between India with Russia?
29. How organized workers differed from unorganized workers?
30. India hasachieves a lot of progress through five year plans. How?
OR
The government has taken many measures to solve the problem of marginal and small farmers. How?
31. List out the conservation methods of soil?
OR
List out the reasons for deforestation?
32. Describe the functions of banks?
OR
Describe the relationship between a Bankers and customers.
33. Mention the differences between evergreen forests and Mangrove forests?
V.Answer the following questions in eight sentences/ points each:4 x 4= 16
34. Explain the factors thatare essential to combat communalism?
35. Brahmo Samaj played a vital role in social reformation movement.Substantiate.
36.British education system created young generation in India .how?
OR
The rebbillen led by DondiyaWagh is an important rebellion against the British power justify
37. What are the aims of multipurpose river valley projects?
VI. 38. Draw an outline map of India and mark the following:
a) Tropic of Cancer
b) Malabar coast
c) Govindasagara
d)Kosi project
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9x3=27

1+4=5



